FEXRETE

REELRUFEH

NEABAEZATRRFLMR VAR

=X J0)=]:5)

EEXAR

RXFE

SHBEODRTa1—)L

I



Ex:3 1]

FEXRETE

I

1 KRREZARUFEH
R&EFEL  RARHO00  R&EIKEKR OO OO
PrEd : iR FHETOO 1 — 2

2 SNEABAEZARRFLMRUREH
g% - M4 TOOOO0]
FTEf - IARRFHETOO1 —2—1

3 EHXEnH®M
JEND A =2 —FKLHP, FI7VEICOWTEEERL, SMEANDDD LT
FKIRLRPENICTHZ LT LD, AEANBIEENRE LT WRIELZEZ D H O,

4 BEANB

(1) 4FFERS (G555, ~v7n, hEE (BERT, @ET)) A=a2—0FEk
FIERATO A = 2 — 3RO B

(2) 45 (ERRoEBY) OR—LX=UROT T T OIERK
((HrESEINORPST)

(3) 4SS (Efio s BY) BEERNFROIER
TERR L ORREA A —NTIBIRD L B0

(4) AFEME (ERROEBY) OIEWNAENEIER
HEERITLLTO LY
T s LenEd, OO0ILE Y 2%,

5 NXFH
BRI TPREDO LB

6 SHEDODRTTa—)L
9H kA EFHE
9H A HEEET
10H1H % SRERMNBAE



